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/LPEDK� VSRQV� (9$� PHUXSDNDQ� VDODK� VDWX� OLPEDK� \DQJ� GLKDVLONDQ� GDUL� NHJLDWDQ�
SURGXNVL� LQGXVWUL� DODV� NDNL� GL� %DQGXQJ�� .HJLDWDQ� SURGXNVL� \DQJ� WHUXV� EHUMDODQ�
PHQ\HEDENDQ�MXPODK�OLPEDK�VSRQV�(9$�WHUXV�PHQLQJNDW��6DODK�VDWX�LQGXVWUL�DODV�NDNL�
GL�%DQGXQJ�\DQJ�PHQJKDVLONDQ�EDQ\DN� OLPEDK�VSRQV�(9$�DGDODK�SHUXVDKDDQ� ORNDO�
EUDQG0.6¶�6KRHV��3DGD�SHUXVDKDDQ�0.6¶�6KRHV��OLPEDK�VSRQV�(9$�\DQJ�GLKDVLONDQ�
GLEXDQJ�EHJLWX�VDMD�WDQSD�GLRODK�WHUOHELK�GDKXOX��/LPEDK�VSRQV�(9$�PHPLOLNL�SRWHQVL�
XQWXN�GLNHPEDQJNDQ�PHQMDGL�SURGXN�DNVHVRULV�IHV\HQ�

0HWRGH�SHQHOLWLDQ�\DQJ�GLJXQDNDQ�GDODP�SHQHOLWLDQ�LQL�GLDQWDUDQ\D�\DLWX�VXUYHL��VWXGL�
OLWHUDWXU��GDQ�MXJD�ZDZDQFDUD��6HODQMXWQ\D�PHODNXNDQ�REVHUYDVL�XQWXN�PHQJHQDO�OHELK�
GDODP� NDUDNWHU� PDWHULDO� \DQJ� GLWHOLWL� GDQ� GLODQMXWNDQ� GHQJDQ� PHPEXDW� EHUEDJDL�
HNVSHULPHQ�WHNQLN�SHQJRODKDQ�OLPEDK�GDQ�SHUDQFDQJDQ�SURGXN�DNVHVRULV�GDUL�OLPEDK�
VSRQV�(9$� 'DODP�7XJDV�$NKLU�LQL��GLODNXNDQ�SHQHOLWLDQ�GHQJDQ�PHWRGH�HNVSHULPHQ�
XQWXN�PHQJHWDKXL�NDUDNWHU�GDUL�OLPEDK�VSRQV�(9$�GDQ�PHUDQFDQJ�SURGXN�DNVHVRULV�
IHV\HQ�\DQJ�WHSDW�XQWXN�PHQJDSOLNDVLNDQ�HNVSHULPHQ�WHUSLOLK��6HKLQJJD�GDODP�7XJDV�
$NKLU�LQL��SHQXOLV�PHPIRNXVNDQ�SHQHOLWLDQ�SDGD�WHNQLN�HNVSHULPHQ�PDWHULDO�GDQ�GHVDLQ�
KDQGEDJ \DQJ�DNDQ�GLMDGLNDQ�SURGXN�DNVHVRULV�IHV\HQ�
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